Example

Refer to Figure 8. Suppose we have a circle of radius 10cm and an arc of length 15cm. Suppose
we want to find (a) the angle #, (b) the area of the sector OAB, (c) the area of the minor
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Figure 8. The shaded area is called the minor segmen




Practice Problems...

Pages 175-178
#3,4,5,6,7,9,11,12,13



Check-Up...

Arrange the following angles in descending order:
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Two flywheels are connected by a belt, as shown in the diagram below. The larger
one has a radius of 6 cm and the smaller one has a radius of 2 cm.

A\ 3.1
(a) If the small wheel rotates —300°, then through how many radians does the large
ﬁ ——
wheel rotate?

(b) If the large wheel rotates 7?:1’ radians, what distance would a Eoint on the
circumference of the small wheel rotate? o .
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Angular Velocity

Angular velocity - amount of rotation around a central point per unit of time
=d
Ved 0 a
t =N 0=
t / r

0 = angle (radians)

v, = angular velocity a = arc length

t = time r = radius

Ex. The roller on a computer printer makes 2200 rpm (revolution per minute).

Find the roller's angular velocity. ( K‘d /Q()
A

Ex. (a) If wheel 1 rotates 40 radians, how far has the belt traveled?

(b) Given the 40 rad rotation of wheel 1, what was the angle of
rotation for wheel 2?
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